Name R"U}) Date

1. Determine the perimeter and area of rectangles A and B. Include labels.

5.
A 7 .
=
E
A= HO %fb units A= D5 3% un s
p= 20 units p= 24 wnitsS

2. Determine the perimeter and area of each rectangle. include labels.

4 cm

7 cm

3cm

9cm p=

2L cpn

p- 20 a= Jl 5¢. LM

A=_21 4.




3. Determine the perimeter of each rectangle. Include labels.

149 m

p. A4S0 M

149 225

~ b
+2.15

223 ~§50

76m

2ml10cm

45 cm

P=

Sm (0em

Zm [0 um

4 HScrm

2m 95cm

2 55 cm
SRR

Hm 1O ¢
Sm locm

4. Given the rectangle’s area, find the unknown side length. Include labels.

a. bcm

6
square
cm

Xcm

- lbwm

x —. = u>sgcrvw

5m

25
square
m

x=__om

B __. = ZSS*‘()-FY\



5. Given the rectangle’s perimeter, find the unknown side length. Include labels.

Xm
40 cm
a. P=180cm b. P=1,000m 150m
] Xcm

30 - HOo +40)= 100
l @ 5) 1,000*(l50+l50): TJoo
002 = 50 00+ 2 = 3S0

x=__50cm x= 390 Mm

6. Each of the following rectangles has whole number side lengths. Given the area
and perimeter, find the length and width. include labels.

a. A=232squarecm b. A=36squarem
P=24cm P=30m
. Lem
—— L. 3
32 square cm W"-‘;‘:Lc_m
36
sql::re = /2
Lxw= 3.
Hv § = 3%
LtL + W tw = 24 Lxw = 30
Il = el

v Y 5 oA

343 /%t (27 30



Name R'U'] Date

i

1. Arectangular pool is 7 feet wide. Itis 3 times as long as it is wide.

a. Label the diagram with the dimensions of the pool.

2L .

b. Find the perimeter of the pool. P = S5 ‘?t .

2. Arectangular bumper sticker is 3 inches long. It is 4 times as wide as it is iong.

a. Draw a diagram of the bumper sticker and label its dimensions.
L2 in.

——
2, Iin. 3in. oA

31‘{\ .

b. Find the perimeter and area of the bumper sticker. P = 30N. A= 30 6‘% N .

(5 t(8 730
3% (2 = 3b



3. The area of a rectangle is 36 square centimeters and its length is 9 centimeters.
Draw and label this rectangle.

Qe

4 om

a. What is the width of the rectangle? W = "t M

b. Elsa wants to draw a second rectangle that is the same length but is 3 times as
wide. Draw and label Elsa’s second rectangle.

Qo

Hom

[Zem < Hom

L{le

¢. Whatis the perimeter of Eisa’s second rectangle? P = 42— chm

172 +94 = 21
20w = H 2.



4. The area of Nathan’s bedroom rug is 15 square feet. The longer side measures 5
feet. His living room rug is twice as long and twice as wide as the bedroom rug.

a. Draw and label a diagram of b. Draw and label a diagram of
Nathan’s bedroom rug. What is Nathan's living room rug. What is its
its perimeter? P = I §t. perimeter? P = 3L L+,

5 O (o0&t

34t
— ~ 6tt.

L

\—

c. What is the relationship between the two perimeters?

The Liviag voom  rug's perineler s fwice as L”:’j as the
4 J i
bedroom rug's.

d. Find the area of the living room rug using the formula A =/x w.

r=_ (0 9%'@"!‘

e. The living room rug has an area that is how many times that of the bedroom
rug?

The area of the living room rug is L‘l' times the area of the bedroom rug.
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Example:

50
Stens

5x10=

5onesx 10 =

thousands

hundreds

tens

ones

4

XD

1. Draw number disks and arrows as shown to represent each product.

“thousands |

~hundreds

ones i

x 19

BO0O0B0\ &
“o0o0 SRoo
0o

x\(

nf ¢ ¢ o o0 @
-

a. 7x100=_ 100
7x10x10=_T00
7onesx100=_ 7 hundreds

thousands

hundreds

tens

ones

Oe

50 »{0
600
p

20000

w0

& LY

wi
000V0D

ofe YA
£—N\e?

b. 7x1,000=_7,000

7x10x10x10= 1,000

7 ones x 1,000 = T tHhousands
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“thousands

“hundreds

T e T R -: s T
" Lesson4Homework <

2. Complete the following equations. Use the place value chart if needed.

a. 8x10=__¥O

d 10x3= 30

g. 1,000 x 4 = 4000

b. OO

x 8 = 800

e. 3x {000  =3000

h H0

=10x 4

¢. 8,000= 3 x 1,000

f. 100 x3=300

400 =

4

3. Draw number disks and arrows as shown to represent each product.

d.

15x10=

150

(1ten 5 ones) x 10 =

IS0

x 100

thousands

“hundreds

o tens

lones

¥ [i0 Oé“/[}g@’OOO)

b. 17x100= {, 1OO

17x10x10 =

[,7100

thousands

hundreds

tens

ones

b

xirpoo v ©
&RO2
o0

¥l0\ o »
ea—-‘
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¢c. 36x1,000=_3b, 000 36x10x10%x 10 = 36,000

" thousands | hundreds |- tens = | ‘ones

{0

w10

&
o o X(D GO OO0

»

8

4. Decompose each multiple of 100, or 1,000 before multiplying.

a. 2x800=2x8x O x |O

=16x _|OQ
- 1,600

b. 5x5000= 5 x 5 x10x10x10

25 x 1000

25 0 OO
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Draw number disks to represent the value of the following expressions.

1. 5x2=_ 10

2

5times ones is

[O ones,

2. 5x20= IO()
yA

5 times tensis

(0 +ns

3, 5x200= 000

Stimes 4~ _ hundredsis_ O

o ®°
&0
L]
[ ]
-

hundreds

Chitens i

ones

[
¢ o

e " %

[
[
4

hundreds

thousands

“hundreds

4. 5x 2,000 = (0000

P
¢ @
6o
® 8
'y

5 times 2  thousandsis | O

+housards .




VS COMMON CORE MATHEMATICS CURRICULUM |

5. Find the products.

a. 20x9= b. 6x70= c. 7x700= d. 3x900=
13O H42.0 4400 27100

e. 9x90 = f. 40x7= g. 600x6= h. 8 x6,000=
glo rAde 20 00 g, 000

i. 5x70= j. 5x80~= k. 5x200= . 6,000x5=
250 Rlexe 1000 30, 00D

6. At the school cafeteria, each student who ordered lunch gets 6 chicken nuggets.
The cafeteria staff prepares enough for 300 kids. How many chicken nuggets does
i ? -
the cafeteria staff prepare alftogether: A00 % o = IIZ o0

The cafeteria Pr@p@res [, 500 chicken ﬂu_gge,{‘s,

7. Jane has thirty times as many stickers as her brother. Her brother has 8 stickers.
How many stickers does Jane have? 30w ¥ = 240

Jane has 240 stickers.

8. The flower shop has 40 times as many flowers in one cooler as Julia has in her
bouquet. The cooler has 120 flowers. How many flowers are in Julia’s bouquet?

Yoy 2 . = {20
There are 3 Llowers in Juliz s bou%ueé.
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J

Represent the following problem by drawing disks in the place value chart.

1. To solve 30 x 60, think:

Hundreds Tens - Ones

/;—’0—::0

L]

(3 tens) x {6 tens) =

¢t & oo }C(C

Ixox10x10=
30 x 60 = [}%OO

6 0 o 9

2. Use the word form of the numbers to find the products.

a. 3tensx6tens= | hundreds

30 x 60 = LﬁS‘OO

b. 2tens x 2 tens = & hgmdreds

20 x 20 = 400

c. 3tensx5tens= 15 humdreds

30x50= D00

d. 7tens x 6 tens = 42 hund reds

70 x 60 = 4200

e. 6tens x4 tens = 2»"" hLbV\d!"@dS

60 x 40 = 2400
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3. Rewrite each equation in unit form and soive.

a. 40x70= 2800

.._.......’................................
4dtensx 7 tens = Z% hundreds

b. 60x60= 3 600

6tensx 6 NS = Slo hundreds

c. 80x20= OO

_)—_—_—_

8 fens x2 NS = o hundreds

N ns x 1 fens = 44 hundreds

2  hundreds

Bl
s
%
i)
:

£ 30x70= 2,100

2 dens «x 1 +ens - 21 hundreds
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1. Show partial products with disks on the place value chart, and record the partial
products vertically.

24

x 3
° °* IZ-(55<‘-+)

—— v ——— e e et e e

w o o &9 '{.:.,,.....@_.QCBX?"O—)
& 72

b. 3x42

“hundreds |-~ tens | ones 4 2

& O 3

2 L (3%2)

+ 120 (3% 40)
| 26

c. 4x34

Thundreds | tems | ones

o ® 0 © o0

~~~~~ e To (4x4)
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+_ 80 (H4x 20)
| 0%

e. 5x42

_hundreds | tens |  one

4
X

UoN

7o (5x2)
¢ 200 (5x40)
710

. When Cindy multiplied 3 x 24, she said, “3 x 4 is 12 ones. Then there’s just 2 tens
left in 24, so add it to the 12 ones and you get 32 for the answer.” Do you think
Cindy’s shortcut works? Explain your thinking in words and justify your response
using a model or partial products.

Cindy is wrong. Tnskad of just adeding
the 20, you have to take 3 Hmes 20
and add i+ fo the 12, The tovrect answer is 72.

24

)

2 (Bx#)
+ 0O (5¥20)

72




Name ij Date

1. Represent the following expressions with disks that match the partial products.

a. Ix424

c. 4x1,424
‘thousands | hundreds | tens | ones
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d. 2% 617 6 1 7
b 2
j - (Z\c'ﬂ
20 (zxi0)
_____________________________________________________________ v 12 0 O (2% 600)
e @
-------------------------------------------------------------- 1,2 3 4
8 ¢ @
e. 5x642
6 4 2
Thowands]| ) -
_______________________________________ N 2 0 0 (5xH0)
°e +30 0 0 (5x 600)
¢80 5} 2 | o
f. 3x3,034
3 0 3 4
thousands | hundreds x 3
| 2 (3 s )
""""""""""""""" 490 (3x30)
* 9 o ( 5x0)
# 940 00 (3x3000)
~~~~~ e ISaneRis ESCT s Q|1 O 12
" &9
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Solve the following expressions using the partial products method, and the area

model.

a. 8x312

312

10

2400

g0

2158
X B
30

SO
looo

lp@o

¢ 598 x 9

200

1O OO0

S

30

5600

90

4500

10

21
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2. Solve using the partial products and area model methods.

On Monday 475 people visited the museum. On Saturday there were 4 times as

many visitors as there were on Monday. How many people visited the museum on
Saturday?

S
x 4

NESEN

o 4 | leoo 280 20
(0]
| ()

"

1,400

=
(.o

M)

There weve 1,00 visitors
to the Mmuseum on Saﬁtro(a.a

3. Model with a tape diagram and solve any way.

?
6 times as much as 384 '

e —"—

Eﬁ—f \ 384 ] 3%y \_l 384 \354 \??q_(

3%4
b

X X

S L
‘\)
oo +

|

ol ©°

N
U.)
M g



NYS COMMON CORE MATHEMATICS CURRICULUM

Solve any way.

4. 653x3
653

w
w

L

c O

—ﬂ—’.‘#

5
| ¥ O
S

9O

1.4

5. 7 times as many as 3,073.

207173
% 1

e—————

2 |
45 5
&)

L0 0 6

[}

'2.\,Sl |

GO0 50 3

[ROO [S0 9

e

3000 o 10 &

1] 2loco | o 490 |2l

3

6. A cafeteria makes 616 pounds of white rice and 508 pounds of brown rice every
month. After 6 months, how many pounds of rice does the cafeteria make? Write
your answer as a statement.

[le 50% 509

y (o X b + ?:C?"'*g

Y2 ‘*‘2 b, 744
3&?2 o a makes &, 144 pounds
7L 08 The caletoria makes G, poun
a2 0 & ' L cice in L months

- brown ot (ice IN -
white drine

rice
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1. The table shows the number of stickers of various types in Chrissy’s new sticker book. Chrissy’s
four friends also own the same sticker book. How many stickers do Chrissy and her four friends
have altogether?

Type of Sticker | - Number of Stickers
Chrissy q 92 flowers 32
smiley faces 21
hearts 39
92

Friends ql \ qz 612_ \ C?Z-

3% Chrissfj and her Lrends have

0 o total of HG60 stickers.
450
i 0

2. The small copier makes 437 copies each day. The large copier makes 4 times as
many copies each day. How many copies does the large copier make each week?

L3 | 7148

Large Copier _____’f_i _._____3‘_1
1 day 174§ 2% , 56
| 20 30

153 145

i 148 | 2#2. A

Large Copier

1 Week 48 1 748 174&[/74&

1748 |\ (4% i 748

%

The lOLraJ@ Copiés makes 12, 230
copies each week.
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3. Jared sold 194 Boy Scout chocolate bars. Matthew sold three times as many as
Jared. Gary sold 297 fewer than Matthew. How many bars did Gary sell?

._—’1 Ay
are [ 3
b s 582 1.2?;)

300

— 194 \ (A4 \ 194 \

— 592
e = .~ 2%0
Gary T 7 \ 219 : LA

Gary sold 203 chocolate lars.

4. Write a word problem to go with this tape diagram. Include the solution.

973 meters

723 meters 723 meters 723 meters

Vo ows . T = 3,142m
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Solve the following problems using arrays.

1. Linda makes booklets using 2 sheets of paper. She has 17 sheets of paper. How

many of these booklets can she make? Will she have any extra paper? How many
sheets?

‘ She can make % booklets.

She will have one sheet
ot paper lect sver

Linda uses thread to sew the booklets together. She cuts 6 inches of thread for
each booklet. How many booklets can she stitch with 50 inches of thread? Will
she have any unused thread after stitching up the booklets? if so, how much?

T Linda will yse H8inches
T oL Hhread 1o Jew 8 bookiets |
= : She will have 2 incdnhes o f
et L Haread left.

G >

:oooo a)aa

3. Ms. Rochelle wants to put her 29 students into groups of 6. How many groups of 6
can she make? If she puts any remaining students in a smaller group, how many

students will be in that group? She can Make L{- 9rou{5 op[.p
%"7‘—2 There will be 5 students
e ¢ @ 0 v

G D) in the last group.

e @
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4. Atrainer gives his horse 7 gallons of water every day from a 57-gallon container.
How many days will the horse receive its full portion of water from the container?
On which number day will the trainer need to refill the container of water?

51 4al. .
7 The herse will 59,{— (s
F\ ® aa? 4{ Q‘A“ CLW\P)M!'\'(“ 100{ g

oloujS. On +the Ath

¢x1=25b j’ﬁ“" Aoy, Hhe tramer will
let. ped to velil the
entain e

5. Melissa has 43 toy soldiers. She lines them up in rows of 5 to fight imaginary
zombies. How many of these rows can she make? She puts the remaining soldiers
in the last row. How many soldiers are in that row?

U3 solcliers She dan wake 8 rows
ol 5. There will

(5(,”? (//\ be B soldiers in

$x 540 3in
las T
vl

6. Seventy-eight students are separated into groups of 8 for a field trip. How many
groups are there? The remaining students form a smaller group of how many

students? 78 S’cu.den“ti

There are A @FObups
of § awnd the
last grovp win
have [, studants.
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Show the division using disks. Check your quotient and remainder by using
multiplication and addition.

1. 7+3
Ones ;ﬁ
I 4 f ¥ g p o quotient =
______________ remainder =
@ [
I') 0
2. 67+3
Tens Onas
Yy a ey | VLo yre
(0 ¢ i, quotient = 22
0 ¢ » & remainder = l
& 0 g 0
3. 5+2
Ones
AP e quotient = a
& ¢ remainder = l
o ¥

Check Your Work

3
X 2-

b
+ 1
7

Check Your Work

Check Your Work

2
x &
L{

|




4. 85+ 12

guotient = L!' 2‘

remainder = 1-

Check Your Work

b2

% 2-
Ralautt

¥H

+ |

LI

¥5

quotient = 1

remainder = j—

Check Your Work

Tens Ones
JAYylrsy| 17 FF°
RN

5. 5+4
Ones
f777°
______ ‘
6. 85+4
Tens Ones
AAEA Yoy | PP rre
R— >
e ¢ Iy
& @8 8
""" AR

quotient = 2‘ l

remainder = 1

Check Your Work
2
¥

e
g4

+ |

s

§5
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Show the division using disks. Check your quotient and remainder by using

multiplication and addition.

Ones 5

guotient =

remainder = i‘

§F 6 &
s & ¢
2. 73 %2
Tens Ones
LA S
/y////ff’,// guotient = JQ
C& #¢9 2%8 3 remainder=__ 0O
&8 ¢ ¢ s o Y00
3. 6+4
Ones
& g
g// quotient = L
0 remainder = 2.
¢

Check Your Work

2
x 3

X 2
&
+ {

=

Check Your Work

36
’_>_<....%-—-
] 2
b O
e

72

Check Your Work

1.{

x|

ettt

L-{
2
©




Tens Ones quotient =
/////f’@"” %f {:’
@»\ e remainder =
# o 4
& e ¥?
4 I
5, 8+3
guotient =
Ones
XYYy e remainder =
>,
F] &
95 ________________________
6. 84 +3
Tens Ones

il

VIV NYIIY
1/; z

P
A2y a

o ——
&

et
s 8 v 0040
—-‘_“-'“_-_‘_/

8% 00 54 094

[ 2-
3

2

guotient = 2— 8

remainder= O

Check Your Work
|2

X+

“4¥

2

51

Check Your Work

%

P

b
i

g

Check Your Work

2Y

X2
24

60
54
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Name M HOMEWORK

Py

1. Maria solved a multiplication problem by drawing an area model, but she left off
the length measurements along the top. Can you figure out the missing

measurements?
10 3
3 30 ' 2 3x_ I3 =54
Show a number bond to represent Maria’s area model.

(3x10) + (B2 x8)

=~ R0 & 2_‘-'\
- 54
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2. Fill in the missing lengths on the area models and complete the number bond.

. 10 5
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3429 + (3x5)
b0, s
- 15

| ONO
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Name Rb@» HOMEWORK

1. Use number bonds to divide greater numbers.

a. e b.

(H0:2) + (Jb 4 06 + (I8 +6)
o . & =+ 3
— ,L‘ = |3
s6+4=_I4 78:6=_ |3

(90=:5) + (40+5) (8+:8) + (3L:8)
= 10 + 8 = O + H
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2. Decompose the whole into multiples of the divisor to complete the number bonds.
a‘ O "' ©

30 +3) + (IS +3) 40+4) + (2 +4)
= 16+ S = 10 o+ b
= 15 =
45+3= 15 6a-4= |b
c. d.
(5 %
(0:7) + (2l+7) (L0+6) + (3b=6)
- 1o+ 3 =0, = B
= |3 = b
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Name k% Date
1. Solve 35 + 2 using an area model.
10 _T
2 20 4 35:2= [T r_|

2. Solve 79 + 3 using an area model.

20 b

3 GO 18 79+3= 20 ¢ {

3. Paula solved the following division problem by drawing an area model.
{0 jo ¥

L& Ho 4o lb y?. liﬁum'l't

mits

What division problem did she solve? qg + o€ 24 r
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Solve the following problems using the area modei.

4. 42+3 = [+ 5. 43+3 = Y |
{0 H [0 o
5 50 2 3 30 12
6. 52+4 = |3 7. 53+4 = {2 |
10 3 0 3
i H0 (2 H 0 12
n

8. Ninety-seven funch trays were placed equally in 4 stacks. How many lunch trays
were in each stack? How many lunch trays will be leftover?

2.0
%rgo

11+

o There, Wre, &+ frays [0
[eft over.

: 24 |
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Name K% Date

Solve using the Forgiving Method.

1. 84+2 2. 84+4
72 2.1

2 ) 84 1)

-%C 170 80 |20

“L.‘Q_

P il T -

O L{’Z— ’—:-;- A

-30 ||p = 10

Lo
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IS rH 22.(3

5 )79 4 )q|
=50 11o -0 |20
2.9 [
“25 15 -% |2

b0 |10 -1 1o




Date

Name HU-A(—

1.

Record the factors of the given numbers as multiplication sentences and as a list in
order from least to greatest. Classify each as prime (P) or composite (C). The first

problem is done for you.

Multiplication Sentence
a8 The factors of 8 are:
1x4=8 2x4=8 1,2,4,and8
b-110 |x ID The factors of 10 are:
¢ i1t The factors of 11 are:
| % 1\ T
d. | 14 \ % 1:__( The factors of 14 are:
€ 117 The factors of 17 are:
[ 17T 1, 1
120 (w20 The factors of 20 are:
2% \O [,2,4, 510,20
Hx 5
g 122 [w 22 The factors of 22 are:
2% 1! [, 2, 11, 22
h. |23 The factors of 23 are:
| x« 23 1,23




125 ly 2.5 The factors of 25 are:

5% 5 l, s, 25 C
1126 |« 2L The factors of 26 are:

2y 13 [, 2,13, 26 | C
k127 |w 27 The factors of 27 are:

2% 9 [,%,9, 271 C
L 128 [« 2% The factors of 28 are:

2w (4 l} 2‘;'“4‘, —?, ]L{’ 2% C

Hx

2. Bryan says that only even numbers are composite.
a. List all of the odd numbers less than 20 in numerical order.

, 5,5, 7,9, 11,13, 15,11, 19

b. Use your list to show that Bryan’s claim is false.

Ht’/r& ave €X@MPI€S‘ 0\0 CO(Y\PoSf\Jr& odd nu,m&ms:

d= I5x3, Ix9

15 = 5%x5, Ix/5
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1. Explain your thinking or use division to answer the following.

Mc). IH does ﬂO"'
erd in O or 5.

a. 1s 2 afactor of 727 b. s 2 afactor of 737
Ywe,si 4 s even. No, (+ is ooldl.
c. Is3afactorof 72?7 d. Is 2 a factor of 607
7L C
Yes O Yes, it s even.
3% 30 3wt
e. Is 6 afactor of 727 f. Is4 afactor of 607
Yes. Gxla=72 Yes (o)
Hx L0 $x 5
g. Is5afactorof 727 h. Is 8 a factor of 607

Mo. "ZY’I",S(»
¥ ¥ = &Y




2. Use the associative property to find more factors of 12 and 30.

a. 12= 4 x 3 b. 30=_l x5
=( Zx 2)x 3 =(_ % x 3)x5
=_2 x (2 x 3) =_% x (3 x5)
=% x 6 =_Z x 15
= 17 - 30

70+ 5 80+5 90+5
14 b |
s 770 570 ] 5790 |
-50110 ~-50 |10 -90
2ol T30 4o
o | - 20 b =k
i+ O T(; o | 1¢
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v

1. List the numbers that have 30 as a multiple.

1,23, 5, & lo,ls,30

. Use mental math, division, or the associate property to solve.

a. Is 12 a multiple of 37 €S s 3afactorof 122 _YE S

b. Is 48 a multiple of 8? 165 Is 48 a factor of 82 _No

c. Is 56 a multiple of 6? No Is 6 a factor of 567 __ N ©
. List three prime numbers. 3! 7_, ” etfc.

. Can a prime number be a multiple of any other number except itself?
Explain your reasons why or why not.

No. feimes only hawe tfwo faders, 1 qud ifself,

so If youl skip coun t !93; the other Numbes,

you won 't land en « pr(‘me.



5. Follow the directions below.

1 2 3 4 5 6 7 8 S 10

11 12 13 14 15 16 17 18 19 20

21 22 23 24 25 26 27 28 29 30

31 32 33 34 35 36 37 38 39 40

41 42 43 44 45 46 47 48 49 50

51 52 53 54 925 56 57 58 59 60

61 62 63 64 65 66 67 68 69 70

71 72 73 74 75 76 77 78 79 80

81 82 83 84 85 86 87 88 89 90

81 g2 93 94 95 96 97 83 99 | 100

a. Underline the multiples of 6. When a number is a multiple of 6, what are the
possible values for the ones digit? O’, '2-_. "f; Co’, ¥

b. Draw a square around the multiples of 4. Look at the multiples of 4 that have
an odd number in the tens place. What values do they have in the ones place?

2 or lo

c. Circle the multiples of 9. Choose one. What do you notice about the sum of the
digits? Choose another one. What do you notice about the sum of the digits?

*TKL Sﬁ&ﬂq(jg *4“& Ci&i{*sr f%&NLl & fnulFQﬂe O-Q CT.



Name

1.

KUA’ Date

W

Draw number disks to represent the following problems. Rewrite each in unit form
and solve.

d.

-t

6:3= 4+ @@’@@l@@

6ones+3= 2.

6023= 20O ]@@

6tens+3=_2 +€NS

600+3=_200 [ @(@@
G hurgreds 3= 2 hundreds

6,000 3= 2000
L Hhousancts £3= 2 Housands

o 0o ololOo

ones

gia= 2~

120nes<4=__ %> ones
oEle @E EI©

g0+4=_20

¥ +ens ca- 2 tens

(02 @D|@SWE @) LTY @D TS

g. 800+4= ZOO

¢ hurdreds 4= 2 hundreds




2. Rewrite each in unit form. Solve for the quotient.

a. 800+4=200 b. 900 +3 = BOO ¢. 400+2 = 200
8 hundreds = 4 = 9 hurdireds < 3= | o phygreds = 2 =
2 hundreds 3 hurdreds 2 hurdreds
d. 200+ 4 e. 160+2 = ¥WO £ 400+5 =~ YO
o +ens 52 = HO fens = 5=
20tens+4 =
tens 24 WS ¢ tens
g 1,200+ 3 h 1,600+ 4 = 400 i 2400+ 4 = OO
{{o hundred.s ';4: 244 hurﬁ;r’eow _&’4:
12 hundreds + 3 = n
hundreds 4 hundreds L hundreds

Draw tape diagrams to solve.

4. Afleet of five fire engines carries a total of 20,000 liters of water. If each truck

holds the same amount of water, how many liters of water does each truck carry?
20,0001~
w T

\ HOoO L \Llf}ODOL. L&}oom.,\ %poog\ Uqc)oo:x\

Facn truck tarries H,000L . of warer”

5. Jamie drank 4 times as much juice as Brodie. Jamie drank 280 mL of juice. How
much juice did Brodie drink? 280 ml-

T T
Jamie \ 70 | 70 | 70 | 70)’\

e —

Brodie

N~
¢

of Jufce.



Name k“(/%y Date

1. Divide using the forgiving method.

a. 378 =2 | ¢ b, 795+ 3 165
2378 3)7195
00 | 100 -0 | 200
(7€ {95
-169 15|
_,‘é g -15|5_
ARG 0| %>
. 512+4 129 d. 492 +4 123
H )51 Ho)4qL
-400 |00 o0 |00
11z | q1
-g0 | 20 -§0 |20
32 12
32 | 8 |3
o | 728 123
e. 539+3 f. 862+5
l—lq f'?— T2 ¢ 2;,
3) 5% 51561
300 | 100 _500 | 100
2.39 ALl
-210 | TO .350 | 10
2.9 i 2
a1 |a 6 | 2
2 | 1719 T2 | 1t




h. 783 +5

g 4983 LGl {563
3)4dag 51183

-300 | 100 5001100
1A% 283

1 g0| 0O -250 | 20

'3 3000

g 3|15

i 621+4 55 | i 531+4 13203
RIYA )53l

oo |00 400 | 100
221 e

200 | 50 1!_2:9. 30
t

ii 5 gy

2. Selena’s dog completed an obstacle course that was 932 meters long. There
were 4 parts to the course, all equal in length. How long was 1 part of the

cou rsqe/?%g
41991
800

|32
120}

200

{2
2

O

Fach Pa(+ DQ the course
was 2%% meers ior\%.




Ky

Date

Name

w

1. Divide using the Forgiving Method.

2. 2,464+ 4 b, 1,828 +3
bl YOR
4 ) 244 3 ) (929
2400 | oo 1800 | OO
(ot} 29
Mol 10 -21) 1
24 1 oqg
24| b
O [
Gl
. 9426+3 d 6587 +2
AlHZL 5293 |
2.)(05?'1
‘BJCH% - Lo00 | 2000
_90001% 3000
o 5871 200
126 400
“a0p| 10© -1
e {871 q0
~120, - 3
b 2 -6 |
Ol 342




e 5425+3 f 542522
1808 ¢ | 2712 |
3 )5425 155425
~3000 | (000 Hooo| 2000
2425 | 425
2400 go0 - 1HO0 1700
251 ¢ 25 12
A N Saq |
'l 180% 1y 27112
o 8,427+3 h 8426+ 3
280 2K0% ¢ L
3 ) 8+ 3 ) 42
- 6000 | zooo “ooo | LC0
24271 14426
- 2400]| ¥0O a0 | ¥€°
27 q 2b <
-2l RS —
© | 2804 2| 2808




NYs cC

Name M HOMEWORK

v

Draw tape diagrams to solve. Identify if the group size or the number of groups is

unknown.

1. 500 mL of juice was shared equally by 4 children. How much juice did each child

get? 500 b |25
400|100
i 60
\/\(‘)\-) o 12.5
_i group size unknown _
Eackh child 30%
______number of groups unknown 125 mL OP J'U.i'C@»

2. Kelly separated 618 cookies into baggies. Each baggie contained 3 cookies. How
many baggies of cookies did Kelly make? 209

3 )8
(1% cookies Looo 200
/"_—\-—/\ N 18
3 ? i L
cwokes| © 77 °| 209
____group size unknown letﬁ made 109 baggiei‘

number of groups unknown



3. Jeff biked the same distance each day for 5 days. If he travelled 350 miles
altogether, how many miles did he travel each day?

‘ 10
380 mdes 5 )350

e S — 350 |10
O

M Jeff biked TO miles

_}.(_ group size unknown eachn dCUj .

number of groups unknown

4. A piece of ribbon 876 inches long was cut by a machine into 4-inch long strips to be
made into bows. How many strips were cut? 2114

§e i - H 1370
) . -§00 {00

706
10
Hin. | ¢ o @ ? e 12

3| q
3
o

group size unknown

Stmps
_X_ number of groups unknown Th@‘j cwt 24 H\\P
of ribbm.



Name W

\'4

Use the forgiving method of division to solve.

1. Mary bought a package of 435 party favors
to give to the guests at her birthday party.
She planned to give 9 party favors to each guest.
How many guests is she expecting?

Mary s expechiry
H g 6ueﬁs.

2. 4,000 pencils were donated to an elementary school.
If 8 classrooms shared the pencils equally, how many
pencils did each class receive?

Eackh class recewed
500 ‘PMC/( (s.

Date

H¥r3

9 )%5

260

79
~12

40O

300

%)t-looo'

-+ 000
0

3500




3. 2,008 kilograms of potatoes were packed into
sacks weighing 8 kilograms each. How many
sacks were packed?

Th?ifj Packo,d 25l sacky
O{) ?@WOC{S-

4. A baker made 7 batches of muffins. There were
a total of 252 muffins. If there were the same
number of muffins in each batch, how many
muffins were in a batch?

There are 3b mutfins
in each bakn.

3b
7}25’2.
~210
“4 2

...L_'*l

e SRR

o

200

S0

251



NYS COMMON CORE MATHEMATICS CURRICULUM

Lesson 35 Homework

Name k-&%—- Date

U

Use an area model! to represent the following expressions in word form.
Record the partial products and solve.

1. 30x17
(0 7
30
itensx_ﬂ_ﬂlﬂtens= 3 tensx__1 x 1 7
30 w;g';m__hundreds= 21 tens = W
200 210 + 300
510
2. 40x58
50 g
4 0
i"‘_'censx____;‘f-:)_“‘cens= __itensx_g_u * 5 8
40 20 hundreds = AL tens= 2320
_1000 320 + 2 0 00O
2,32 0



NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 35 Homework

Draw an area model to represent the following expressions in standard form.

Record the partial products vertically and solve.

3. 50x38
50 4 50
<« 38
5| 1500 400 H OO
t15 00
[9 00
4. 60x19
(O q
O
60 (OOO 51_%0 x lq
SHO
+ 6L OO
V4o
Solve using partial products.
5. 20x88 6. 30x8
20

x 8% X ]

| 6 O 24 O
t 16 OO0

|76 ©



Name H “U'ﬂ’ Date

174

1. Write the expression shown by these area models. 13 X 12
10 2
10 100 20

Use the distributive property to find the product.
13x12= (10x 10 ) + (10x_2Z } + (3

13x12=_ |60 + 20 4+ 30 +
13x12=_ |1 5b

_10 )
b

Use an area model to represent the following expressions. Record the partial
products and solve.

2. 24w |7
{0 T

34
x 17
2%
30 200 210 210
40

i 40 Y + 200
57%




Draw an area model to represent the following expressions. Record the partial
products verticaily and solve.

3. 45x18 L{;
10 8 x 1Y
40
Ho HOO o
+ 400
5 50 HO g1 0
4, 45x19
Hs
10 9 e
_HS
40 HoO 560 360
50
45 n 00
5 50 s s
Solve using four partial products.
5. 12x47 6. 23 x83
12 23
x 47 x 75
14 9
70 €0
§0 270
+ l./ o0 + [g o 0

56 Y 2039



Name HW Date

\

1. Solve using the area model. Add the columns to record two partial products.

34

® 26

ZOL-{- 6 ones X34 ones

2 tens x 34 ones

L&D
g9 4

41

X 8 2

82. 2 ones x 41 ones

Stens x 41 cones

3150
SRR EE—
33042

LYX) y2




2. Solve using the area model. Add the columns to record two partial products.

a, 68x 23

20

;4

¢. 16x 25

w04

320

30

16

8O
+ 320
~H O O

b. 49x 33

q 270 |21
(H1o 47
d. 54x71

O

4| 280

5780




